[ normalized x? probability |

107}

337

-2
10 0.8009

107

Std Dev. 0.795

S R 8101214161820

— nal_step. ar-phasel-newgeom
—m— DOM_T rnkFll slepZ ttbar-phasel-newgeom

—— DQM_angle_step2_ttbar-phasel-newgeom

s DQM_fast_step2_ttbar-phasel-newgeom

mm DOM_pixelCPETemplate_step2_ttbar-phasel-newgeom

A F
5 24
=
> 2.2
>
Vo2
1.8
1.6|
1.4
1.2]
-
0.8
0.6
o
§ 1.05
1
0.95%
A 2.5 A r
E LY 2
> 2 < 1.6F-
v \ E
1.4~
1.5 1.2F
-
1 0.8F-
0.6F
0.5 0.4F
0.2F
o ¥ o GF
© ©
['4 @
1 0.5
G_3 . .
107 10 1072

1 -1
AR(track, jet?



	Contents
	Page 1


